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#include <stdio.h>

void main(void)

{ -1 > n

a(n) ka(n+l) DRH

int j, n, work;

int a[5] = {31 4) 1, 59 2};

]

—"72 )

for(3=[ @ ;3 <=4;3++){

for(n=9j-1;n >=0; n—-) { K —71 )
if(al[ @ J1>aln+11){ 1
[® |=alnl ( N—73 \
. j=0,4,1
aln] =an+1] ]
a[] = work;
} a()tiAh
else{ |
n:—l, k )l/_7°3 )
}
} #® T

}

for(3 = ® ]:j <=4;3++)

printf (“a[%d] =%d¥n”,3,a[31);
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#include <stdio.h>
int main(void)

{
int dat[4]=1{8,5,2,3};

nt j, p,q,tmp;

for(p=0;p< ‘0++){
for(q= @] ;q<4;q++){
if (dat[p]>dat[q]){
tmp =dat[p];
=dat[q];
dat[q]= ;

1

\ }

for(j=0;j< G+
printf("%d¥n",dat[j]);

return 0;
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#include <stdio.h>
#define N 5

int main(void)

int 1,7,work;

int a%N] ={3,4,1,5,2}:

for (i=] O [i<(N-1):1++){
for G5 @ [j<N;++)1

if (alill @ JaljDA
W_orkza[i]]

ali]=aljl;
aljl=work;

.
)

§
§
@ 1(i=0:1< N :1++){
B 1("a[%d] = %d ¥n",i,ali]);

}

return O;
}
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#include <stdio.h>
int main(void)

{
int d[5]={11,16,25,29,23};
int j,key;
printf ("B 7 - % AT1");
scanf("%d",&key);

= @
while(j<| @ D{
if( ® |==key){
break;
}
@ |
§
ifG. ® BN
printf ("R 7 - X 13%d FH¥n",j+1);
telse{
printf("KRFE T - % 7% L¥n");
§
return 0O;




